

$$\log_2^p = \frac{1}{\log_2^p} = \frac{1}{\frac{1}{15}} = 15$$

$$\log_2^p + \log_2^p = \log_2^b = \frac{1}{15} + \frac{1}{15} = \frac{2}{15}$$

(2)

6

$$\log_2^0 + \log_2^p = \log_2^0 = 10 + 1 = 11, 0 = \frac{1}{11}$$

$$\log_2^b = \frac{p}{\log_2^0} = \frac{15}{11} = 0, 130 \checkmark$$

$$\log_2^{p \times r} = \log_2^p + \log_2^{p \times r} = \frac{1}{p} + \frac{p}{p} \log_2^p = M \rightarrow \frac{p}{p} \log_2^p = M - \frac{1}{p}$$

$$\log_2^p = \frac{M-1}{p} \quad (1) \quad \log_2^p = \log_2^p + \log_2^p = 1 + \frac{1}{p} \log_2^p \quad (2)$$

$$(1) \& (2) \rightarrow 1 + \frac{M-1}{p} = \frac{p + M - 1}{p} = \frac{M + p}{p} = \frac{p}{p} (M + 1) \checkmark$$

(2)

7

$$\left(\frac{p}{15}\right)^{p+1} = \left(\frac{p}{15}\right)^{p+1} = \left(\frac{p}{15}\right)^{-p+1}$$

$$\left(\frac{150}{n}\right)^{n^p} = \left(\frac{p}{15}\right)^{n^p} = \left(\frac{p}{15}\right)^{n^p} \quad \left\{ \left(\frac{p}{15}\right)^{-p+1} = \left(\frac{p}{15}\right)^{n^p} \rightarrow -p+1 = n^p \right.$$

$$-p+1 = n^p \Rightarrow \left(\frac{p}{15}\right)^{-1} = \left(\frac{150}{n}\right)^{\frac{1}{p}} \Rightarrow \left(\frac{p}{15}\right)^{\frac{1}{p}} = \left(\frac{150}{n}\right)^{\frac{1}{p}} \checkmark$$

$$\frac{1}{p} \rightarrow \log_2^p = \log_2^p \Rightarrow \log_2^p = \frac{p}{p} \log_2^p = \frac{p}{p} \checkmark$$

(2)

8

$$\log_2^b = p(1+a) \quad (1) \quad \log_2^p = a \rightarrow \log_2^p + \log_2^p = 1+a = \log_2^b$$

$$p \log_2^b = p(a+1) \rightarrow \log_2^b = p(a+1) \quad (2) \quad (1) \& (2) \rightarrow a = b \checkmark$$

$$\log_2 (p(p)-1) = \log_2^p = p \checkmark$$

(2)

9

$$\frac{-b}{-a} = \frac{b}{a} \rightarrow \frac{a}{b} \log_2^b = b = \frac{a}{\log_2^b} \quad \left\{ \begin{array}{l} pa = \frac{a}{\log_2^b} + c \\ pa = b + c \end{array} \right.$$

$$c = pa - \frac{a}{\log_2^b} = \frac{a}{a} = 1 - \frac{1}{\log_2^b} \quad \left(\frac{1}{\log_2^b}\right)^{\frac{1}{p}} = \left(\frac{1}{p}\right)^{\frac{1}{p}} \log_2^p \rightarrow \left(\frac{1}{p}\right)^{\frac{1}{p}} = \frac{1}{\log_2^p}$$

(0/2)

10

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

-10

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra-c} = \lg r = \cancel{r} \lg r \rightarrow \frac{ra}{ra-c} = \lg r$$

معلومه $\rightarrow \frac{ra-c}{ra} = \lg_r^{100} \rightarrow 1 - \lg_r^{100} = \frac{c}{ra} \rightarrow r - \lg_r^{100} = \frac{c}{a}$

$$(r^{-\frac{1}{100}})^{\frac{c}{a}} = (r^{\frac{c}{a}})^{\frac{1}{100}} = (r^{r - \lg_r^{100}})^{\frac{1}{100}} = \left(\frac{r}{100}\right)^{\frac{1}{100}} = \omega^{\frac{1}{100}} = \boxed{\sqrt[100]{\omega}}$$